[bookmark: _GoBack]UK – Macroeconomy
The government has 4 basic objectives
· Low inflation
· Low unemployment
· Sustainable economic growth
· Sustainable current account 
Inflation – Currently 0.1% after falling to -0.1% in April, the target is 2%
· High inflation will make it difficult for domestic producers to export as their goods will be relatively more expensive to other countries
· The cost of living will also increase, which may trigger a wage price spiral. Note: sticky down wages
Unemployment – fallen to 5.5% - the lowest since the recession, whilst wages grew 2.7%
· Employment has a positive multiplier. One man’s spending is another man’s income
· Mark Carney said the MPC would consider raising interest rates when unemployment fell below 7.0% in 2014, a form of forward guidance.
Sustainable Economic Growth – 0.3% in Q1 (long run aim is 2% annual)
· Continued and steady
· Sustainable actual and potential growths
· Can lead to an increase in output, with demand-pull inflation threats
· Long run increase in living standards
Current Account and Balance of Payments
Really good article from April http://www.telegraph.co.uk/finance/economics/11532598/Why-the-UKs-current-account-deficit-has-economists-scared.html







What are the patterns of trade?
· Exports to: United States, Germany, France, Netherlands
· Imports from: Germany, United States, China, Netherlands
· Main Exports: Machinery (such as nuclear reactors and boilers), mineral fuels and oils, vehicles (other than railway)
· Main Imports: Machinery (13.2%), Oil (11.3%), Vehicles (11.0%)
I don’t know what there is that I haven’t covered, the policies to reduce trade deficits, unemployment, inflation etc. are all the same.
